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Fast Math Geometry - Summer Assignment

Section I: Solving Linear Equations

Solve and check each equation. Show all work and circle your answer.
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Section II: Solving Inequalities

Solve and check each inequality.
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Graph the solution on anumber line.
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Section III: Solving Systems of Equations

Solve and check each system ofequations.
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Section IV: Simpliffing Polynomials

Add, subtract or multiply as indicated.
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Section V: Factoring Polynomials

Factor if possible. If not, write prime.
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Write each answer in simplest form.
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Sectioo VI: Solving Equations by Factoring

Solve by factoring. Check your solution(s).
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